Math 206 - 2nd Final Exam Name keg
May 16, 2012 Score

Show all work. Supply explanations where necessary. Use only a compass and a straightedge
for constructions. For each construction, the steps you follow must be apparent.

1. (5 points) An experiment consists of tossing three different coins simultaneously and
recording the results (e.g. HHH).

(a) List the sample space.
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(b) List the event of obtaining a tail on the second coin.
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(c) What is the probability of obtaining a tail on the second coin?
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2. (5 points) The mean score for 25 of 27 tests is 80. The other two scores are 30 and 35.
What is the average of all twenty-seven test scores?
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3. (5 points) Use a compass and a straightedge to construct a square.
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4. (5 points) A letter is selected at random from the first box and placed into the second
box. A letter is then selected from the second box.
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What are the odds against selecting the letter “O” from the second box?
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5. (5 points) A certain brand of light bulb has a mean lifetime of 1700 hr with a standard
deviation of 150 hr. Assuming the lifetimes are normally distributed, how many in an
order of 5000 will have a lifetime of between 1600 hr and 1800 hr?
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6. (5 points) Use a protractor to sketch an angle that measures 70°. Then using only

compass and straightedge, construct the angle bisector.
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7. (5 points) A triangle has sides that measure 1.2m, 85cm, and 3 ft. Find the perimeter
of the triangle in inches.
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8. (5 points) For each of the following pairs of triangles, determine whether the given con-
ditions are sufficient to show the triangles are congruent. If the triangles are congruent,
tell which congruence property can be used to verify this fact.
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9. (5 points) A game consists of rolling a regular die, with prizes awarded as follows:

e Roll a 1 and win $5 Prow s \/(p
e Rolla2, 4, or6and win $2 P,oe s %
e Roll a 3 or 5 and win $1 P\zo a g a/(o

If the game costs $3 to play, how much should one expect to gain or lose on average?
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10. (5 points) Given the figure shown below with AX|| DY, find each of the following:




11. (6 points) Sketch each of the following or explain why it is not possible.

(a) A concave pentagon

(b) A kite that is not a rhombus

(c) A polygonal curve that is neither simple nor closed

(d) A scalene, isosceles triangle
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(e) A parallelogram with exactly one right angle
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(f) An equilateral triangle that is not acute
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12. (3 points) The triangles shown here are clearly not congruent. Why doesn’t the AAS
congruence property apply?
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13. (3 points) Edgar was interested in answering the following question:

If a PSC student is chosen at random, what is the probability that the
student is a female?

To answer his question, Edgar counted 50 students as they passed through the doors,
and 31 were females.

(a) Edgar assigned the probability a value of 31/50. Is this a theoretical or experi-
mental probability?
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(b) What would Edgar need to do to assign the other type of probability?
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14. (5 points) Chester scored 54 on a test with mean 45.39 and standard deviation 4.1.
Alice scored 25 on a test with mean 19.34 and standard deviation 2.75. Compute the
z-scores and determine who scored better.
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15. (3 points) The twenty children in Sam’s class received the following scores on their

math quizzes: ,
1077 3 9787 109

5 73 10 9758 6 7
On the sheet of graph paper (attached), sketch the dot plot for the class data.

S&E ATTACHEDY SMEET,

16. (5 points) Fill in the blank with an appropriate word or phrase.

(a) The standard deviation is a measure of S PREAD .

(b) Points that line on the same line are said to be __ Co\LL\n AR

(c) The arithmetic mean is a measure of __ CEMNT <R,

(d) IQR is an abbreviation for _ | NTER QUARTILE RAMNKE

(e) A finite subset of a line that lies between two points is called a __ L\\NE S EgMesT
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